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ENVIRONMENTAL SCIENCE

PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks.  Attempt all of them.

1. Due to Corriolis effect, wind in the :
(A) Northern Hemisphere move to the left with respect to the rotating earth.
(B) Northern Hemisphere move to the right.
(C) Southern Hemisphere move northward.
(D) Both Hemisphere move independent of each other.

2. Precipitation of CaCO3 may occur when :
(A) Sea water is shallow and CO2 is lost.
(B) Sea water is warm and CO2 is being lost.
(C) Sea water is cold and CO2 is being lost.
(D) Sea water is deep and CO2 is being added.

3. CO2 in soil and CO2 in atmosphere differ :
(A) by a factor of 2 (B) by a factor of 1
(C) by a factor of 3.5 (D) by a factor of 4

4. Consider the earth to be a blackbody with average temperature 15� C and surface area
5.1×1014m2.  Find the rate at which energy is radiated by the earth and the wave
length at which maximum power is radiated.
(Hint : Stefan-Boltzman Constant = 5.67×10−8 W/m2-K4 and use Wien’s Rule)
(A) 4×1017 W, 2.02 µm (B) 1×1017 W, 5.1 µm
(C) 1.5×1017 W, 7.5 µm (D) 2×1017 W, 10.1 µm

5. Trapping plume occurs when :
(A) Temperature increases with height.
(B) Temperature decreases with height.
(C) Temperature remains steady with height.
(D) Plume lies in a lapse region and sandwiched between inversion layers.

6. The pH of a solution containing hydrogen ions concentration of 10−5 mol/L is :
(A) 5.0 (B) 7.0 (C) 2.0 (D) 9.0

7. Malathion is :
(A) Organo Phosphorus Pesticide (B) Organo Chloro Pesticide
(C) Organo Carbamate Pesticide (D) Not a Pesticide
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8. Critical point for water in a P - T diagram Suggests : (One statement only is correct)
(A) Water is unstable
(B) Steam is the only stable phase
(C) Both ice and steam are stable phases
(D) Steam, liquid water and ice are stable phases

9. The range of pH for river water in India is :
(A) 1  - 14 (B) 4 - 5 (C) 6.5 - 8.0 (D) 7 - 12

10. In all fresh water in India, the dominant ion is :
(A) HCO3

− (B) Cl− (C) Ca+2 (D) SO4
−2

11. Ozone toxicity to plants is generally due to the involvement of which unsaturated
hydrocarbons :
(A) Unsaturated fatty acid (B) Methylene
(C) Ethylene (D) None of the above

12. In vitro pollen germination is inhibited by :
(A) SO2 (B) O3
(C) Both of the above (D) None of the above

13. Which one of the following is the most productive ecosystem ?
(A) Oligotrophic lake (B) High Sea
(C) Estuary (D) Savanna

14. Vermiculture technology is used in :
(A) Production of Fish (B) Animal Husbandary
(C) Poultry Farming (D) Organic Farming

15. Which one of the following sequence represent increasing order of toxicity of metals ?
(A) Ca, Zn, Cd, Mn (B) Ca, Mn, Zn, Cd
(C) Zn, Mn, Cd, Ca (D) Mn, Cd, Zn, Ca

16. Energy flow in an ecosystem is :
(A) Cyclic (B) Multidirectional
(C) Sequential (D) Unidirectional

17. Removal of key-stone species would cause :
(A) Drastic change in community composition
(B) Drastic change in ecological system
(C) Drastic change in food chain
(D) Drastic change in energy flow
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18. Match List-I and List-II and select correct answer :
List - I List - II

(a) Mesozoic (i) Tertiary
(b) Proterozoic (ii) Triassic
(c) Cenozoic (iii) Pre Cambrian
(d) Paleozoic (iv) Permian

a b c d
(A) iii ii i iv
(B) ii iii i iv
(C) ii iii iv i
(D) iii ii iv i

19. Correct order of increasing energy content for various types of coal is :
(A) Anthracite, Peat, Bit-coal, Lignite (B) Lignite, Peat, Bit-coal, Anthracite
(C) Peat, Lignite, Bit-coal, Anthracite (D) Peat, Lignite, Anthracite, Bit-coal

20. Silica content of granodiorite is in the range of :
(A) 22 - 44 % (B) 66 - 88 % (C) 44 - 56 % (D) 44 - 66 %

21. Formation of sedimentary chalcopyrite requires :
(A) High pH, high Eh (B) Low pH, high Eh
(C) Only low Eh (D) Low Eh, low pH

22. Bowen’s law basically tell us :
(A) How a sedimentary rock is formed
(B) How various igneous minerals are formed
(C) How some economic minerals are formed
(D) Both A and B are correct

23. Match the 24 hourly average ambient air quality standards from Lists I and Lists II :
List - I List - II

(a) Sulphur dioxide (i) 100 µg/m3

(b) Oxides of nitrogen (ii) 200 µg/m3

(c) Suspended particulate matter (iii) 80 µg/m3

(d) Respirable particulate matter (iv) 20 µg/m3

Codes :
(a) (b) (c) (d)

(A) iii iv ii i
(B) iv iii i ii
(C) iii i iv ii
(D) i ii iii iv

24. The most abundant alkaline component of the atmosphere is :
(A) Ammonia (B) Nitrogen
(C) Sulphur dioxide (D) Carbon Dioxide
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25. The faecal indicator bacteria is :
(A) Staphylococeus aureus (B) Streptococeus faecalis
(C) Ercherichia coli (D) Salmonella typhi

26. The maximum permissible level of BOD (mg/l) in wastewater that is let into river is :
(A) 20 (B) 30 (C) 40 (D) 10

27. Coral reefs are vulnerable to :
(A) Siltation (B) Flood water (C) Nutrients (D) Salt flow

28. Assertion (A) : The mangroves are nursery ground for fish and larvae.
Reason (R) : The mangroves are covered with mangrove plants that enriches the

environment.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

29. In an industrial environment what is the single most important factor in an accident
prevention programme ?
(A) A written programme (B) Training
(C) Safety engineers (D) Management support

30. Match the following List-I and List-II and select the correct answer using the codes
given below :

List - I List - II
(a) Public hearing is required (i) Modernisation of existing irrigation

projects
(b) Public hearing is not required (ii) Highway projects
(c) Baseline air quality data is collected (iii) Once in each season
(d) Baseline noise level data is collected (iv) 24 hourly twice a week
Codes :

a b c d
(A) i iv ii iii
(B) ii i iv iii
(C) iii i iv ii
(D) iv iii i ii

31. All lands with tree cover of canopy density of 40% and above is notified as :
(A) Scrub (B) Open forest (C) Dense forest (D) Forest cover
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32. Match the List-I and List-II and select the correct answer using the codes given below :
List - I List - II
(Power generation capacity) (Stack height (m))

(a) 500 MW and more (i) H=14 (Q)0.3

(b) 200/210 MW and above but less than 500 MW (ii) 275
(c) less than 200/210 MW (iii) 220
(d) steam generation capacity less than 8.5 MT (iv) 9
Note : H=Physical stack height in metres

  Q=Emission rate of SO2 in kg/hr.
Codes :

a b c d
(A) i ii iii iv
(B) ii iii i iv
(C) iii iv ii i
(D) iv i ii iii

33. The Water (Prevention and Control of Pollution) Act 1974 ....
(A) Regulates the discharge of hazardous pollutants into the nations surface water.
(B) Regulates the emission of hazardous air pollutants.
(C) Regulates waste disposal of sea.
(D) Regulates the transportation of hazardous materials.

34. The harmonic mean of the numbers 0, 2, 4, 6 is :
(A) 3 (B) 0 (C) 2 (D) 1

35. Assertion (A) : Wetlands are often described as ecotones.
Reason (R) : Wetlands are biologically rich dynamic zones of transition between

two different ecosystems.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

36. The first National Park established in India is :
(A) Indira Gandhi National Park (B) Indravati National Park
(C) Corbett National Park (D) Kaziranga National Park

37. The main pollutant in vehicle emission is :
(A) CO (B) CO2 (C) SO2 (D) SO3

38. A device fitted to the exhaust system of a petrol driven motor vehicle to reduce emissions
of pollutants is called as :
(A) Conversion System (B) Conversion Kit
(C) Catalytic Converter (D) Catalytic Box

39. The particle A in the following equation is :

U  A U
239
92

238
92

→+

(A) p (B) e (C) n (D) α
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40. The average solar constant is :
(A) 1.2 cal/cm2/sec (B) 3.5 cal/cm2/sec
(C) 1.2 k cal/cm2/sec (D) 2 cal/cm2/sec

41. Which one of the following group of plants is most resistant to ionising radiations ?
(A) Coniferous Forest (B) Grass Land
(C) Lichen and Mosses (D) Mixed Forest

42. How many moles of oxygen are required to burn one mole of propane ?
(A) 2 (B) 3 (C) 4 (D) 5

43. What percentage of India’s population lives in Urban Centres.
(A) 20 (B) 30 (C) 10 (D) 50

44. The recent asbestos controversy about the French ship going to Alang was primarily
due to :
(A) Violation of Indian Coastal Zone Laws.
(B) Violation of Transnational Movement of Hazardous Waste.
(C) Gujarat State Pollution Control Laws.
(D) Indian Air Pollution Laws.

45. Due to the increasing energy use the ozone layer over the arctic is :
(A) Increasing (B) Decreasing
(C) Not shifting in size (D) Not affected at all

46. Ecological restoration of degraded sites are aimed to :
(A) Restore all biophysical characteristics of pristine ecosystem.
(B) Restore social desirable and economically feasible characteristics of original

ecosystem.
(C) Leave it alone and allow natural regeneration.
(D) Prohibit all human activity in the area.

47. The first Environmental Law in India was enacted in :
(A) 1947 (B) 1950 (C) 1972 (D) 1982

48. The permissible Arsenic levels in drinking water is :
(A) 20 µg/l (B) 50 µg/l (C) 75 µg/l (D) 50 mg/l

49. The mean annual rainfall in India is :
(A) 110 mm (B) 110 cm (C) 85 cm (D) 110 m

50. The median of a set of numbers 2, 5, 8, 10, 12, 16, 20, 23 :
(A) 10 (B) 12 (C) 12.5 (D) 9

- o O o -
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